ERYUEE
(19.4n)

—h&(206)
(16.2m)

—H(207)
(16.2nf)
&

— % (208)

—#(211)
(23.8m)

(18.2r) (‘(

12,825

f=]
Q)
ol
Ln|
=)
|
G
=t
o3
B
&
—
f=)
(=1
=
o Ty——
2
o~
~]
(=]
f=1
©)
~

g7

o
(8.51m) =
B =
HEHE) =
=t
t =
EhI e
T T 2/
B 1
(2. 18nf) —f— w2 =
T EEM. 8
HE(113) i
3,700 2,026, 3,175 4,100 sE) T (25. 6r) W
e B (101)
(16. 3m)
1 = 2
- )
2 - o=
" HEQ ,ff“(]’?, 8 &
25 (102) o
[ L= = = g
== i
1 o 5 (3) S
= ¥ L T amam L 8
,ﬁﬁfgm i b Ny Q1. 1) 5
103) i
i 2 3 = 1
(25.8rr1) A (108) & = | A
Fmiis (17.6n1) -
b
—y
1 ] 2 g] ELV - -
2
A s o mE® 1 -
0 o o g b BERBEE
3 (105) g HE () 3 (22.3mi) sl
(28.0nf) 3k (106) RIE107) i (50. 5mf)
(19. bni) (21.5nf)
| 1 “-é
= = o]
3,900 lz,ﬂﬁ 2.825J 4,100 } 5,400 3,730
6, 075 6, 925 0 6. 000 , 2,200 9,130
13, 000 3,800 17,330 1.8170
| 2MESAATEE  S=1:200




